Four alternatives are given for each of the following questions / incomplete
statements. Only one of them is correct or most appropriate. Choose the correct

alternative and write the complete answer along with its letter of alphabet.

4x1=4
1. Read the given conversation and choose the correct infinitive :
Prakruthi : How are you Susheela ?
Susheela : I am fine. Thank you.
Prakruthi : Did you watch the first ODI between India and
Australia ?
Susheela : No, but I am planning to see the second ODI at
Chinnaswamy stadium this Saturday.
Prakruthi : Good, please go along with your family.
(A) did (B) planning
(C) to see (D) go.
2. Read the given conversation and choose the language function for the
underlined sentence :
Vivek : Hello Tilak, what are you doing now ?
Tilak : I am doing my post-graduation in English.
Vivek : Is it ? Could you please teach me some grammatical
structures in English language ?
Tilak : OK my dear friend.
(A) request (B) advice
(C) offering help (D) accepting.
3. Fill in the blank choosing the suitable modal auxiliary :
Being the citizens of India, we ............... keep our country clean and tidy.
(A) can (B) may
(€) must (D) might.
4. Read the conversation and fill in the blank with correct ‘if clause’ choosing

from the given alternatives :
Savitha : Did you go to the Bharatanatyam programme ?
Madhura : Yes, I had been with my family. It was fantastic.
Savitha : Ifyou had called me, I .................. joined you.

(A) should have (B) wouldn’t have

(C)  shouldn’t have (D) would have.




II. Do as directed : 12x1=12

5.

10.

11.

12.

13.

14.

15.

16.

Combine the word in Column -A with its collocative word in Column-B :
‘A’ ‘B’
march [ first, long, past, last |
Which one of the following words has two syllables ?
answer, homophone, school, yesterday.
Give one word answer for the following :
‘A type of small deer which has large beautiful eyes’
Fill in the blank with most appropriate homophone given in bracket :

My grandmother knew many ................ ( tales, tails ) which she told every
now and then.

Write the correct question tag :
Abhinav scored a goal in the football match,

Read the following conversation and change the underlined sentence into
passive voice :

Sumana :  Hello Prakash, where are your friends ?

Prakash : Hi Sumana, They are playing Kabaddi.

Frame a question to get the underlined words as answer :

The religion teaches liberty, equality and fraternity.

>

Combine the following sentences using ‘too .... to’:
The bag is heavy. I cannot lift it.

Write the correct form of the verb given in bracket and fill in the blank :
Daily, Laxmi ............. ( be + go) in a car to reach her office in time.

Fill in the blank with appropriate preposition :

Ramesh was confined ..................... bed because of fever.

Fill in the blank using suitable linker :

Anagh was teaching his son about living ................. non-living things.
Fill in the blank with the correct phrasal verb :

The guest gave ......c.cceveveninnen.n. ( away, up) the prizes to the winners.

III. The following paragraph has two errors. Edit the paragraph and rewrite it in the

answer booklet. Clues are given : 1x2=2

17.

When ‘Aryabhatta’ the first India build satellite was launched in
April 1975, India entered a space age.

a) Article to be corrected.

b) Verb form to be corrected.




